
ECHNICAL INFORMATION

For Models
Country
Description

Current
HM1100C, HM1140C, HM1211B

New

T 64302
(Page 1 of 2)

Subject Modification of D-Shaped Side Handle

Some components of D-Shaped Side Handle have been modified in order to enhance its durability
as illustrated below.

All countries

HM1100C, HM1140C, HM1200K, HM1211B, HR4000C, HR5001C

2. Handle Base 60
    (416396-3) [2 pcs.]
    Material: Resin

1. Handle Spring 60
    (344559-0)
    Material: Sheet Metal

3. Side Handle
    (416009-6)

Hex.Bolt M8x150
(265439-6)

Wing Nut M8
(252640-2)

5. Side Handle
    (417003-1)

4. Side Handle Base 60 Comp.
    (152620-7)
    Material: Aluminum

6. Side Handle Cam
    (417002-3) [2 pcs.]

1

2

2

3

Side Handle Assembly (134793-8)
It consists of the six parts illustrated above.

Side Handle Assembly (134909-5)
It consists of the six parts illustrated above.)

Current
HM1200K

New

Handle Base 48
(416397-1)

Handle Base 48
(416397-1)

Handle Spring 48
(344560-5)

1. Side Handle
    (416009-6)

Hex.Bolt M8x150
(265439-6)

Wing Nut M8
(252640-2)

2. Side Handle
    (417003-1)
3. Side Handle Cam
   (417002-3) [2 pcs.]

1

Side Handle Assembly(134794-6)
It consists of the six parts illustrated above.

Side Handle Assembly (134944-3)
It consists of the eight parts illustrated above.

Current
HR4000C

New

New

Side Handle 68 Complete
(151769-0)

Hex.Bolt M8x150
(265439-6)

Wing Nut M8
(252640-2)

2. Side Handle
    (417003-1)1. Side Handle

    (416009-6) 3. Side Handle Cam
   (417002-3) [2 pcs.]

1

Side Handle 68 Assembly (134886-1)
It consists of the four parts illustrated above.

Side Handle 68 Assembly (134890-0)
It consists of the six parts illustrated above.

Current
HR5001C

Side Handle 87 Complete
(151549-4)

Hex.Bolt M8x150
(265439-6)

Wing Nut M8

2. Side Handle
    (417003-1)

1. Side Handle
    (416009-6)

3. Side Handle Cam
   (417002-3) [2 pcs.]

31 2

3

5 6

6

4

2

3

3

2 3

3

(252640-2)

Side Handle 87 Assembly (134882-9)
It consists of the four parts illustrated above.

Side Handle 87 Assembly (134945-1)
It consists of the six parts illustrated above.



Implementation

HM1100C: From serial No.39462E (Aug.,2001)
HM1140C: To be informed later
HM1200K: From serial No.71605E (Aug.,2001)
HM1211B: From serial No.21416E (Aug.,2001)
HR4000C: From serial No.171670E (Aug.,2001)
HR5001C: From serial No.48244E (Aug.,2001)

(Page 2 of 2)
64302

Current part New part NoteQ'ty For Model
HM1100C,
HM1140C,
HM1200K,
HM1211B,
HR4000C,
HR5001C

HM1100C,
HM1140C,
HM1211B

HM1100C,
HM1140C,
HM1211B

Item No.

Item No.

See
below

B01

500

I/CQ'ty

1

2

No1

Interchangeability(I/C)

HM1100C   HM1140C   HM1200K   HM1211B   HR4000C  HR5001C

Side Handle
416009-6

Side Handle
417003-1

1Yes1
Side Handle Assembly
134793-8

Side Handle Assembly
134909-5

HM1200K1Yes1
Side Handle Assembly
134794-6

Side Handle 48 Assembly
134944-3

HR4000C1YesB01, F03

B02, F08

1
Side Handle Assembly
134886-1

Side Handle 68 Assembly
134890-0

HR5001C1Yes1
Side Handle Assembly
134882-9

Side Handle 87 Assembly
134945-1

Side Handle Cam
417002-3

1No1

2

Handle Spring 60
344559-0

Handle Base 60
416396-3

Side Handle Base 60 Comp.
152620-7

Interchangeable
as a set

Interchangeable
as a set

Current part New part

071 018 091

070, 072 017, 019

017, 019 074, 093

074, 093

070, 072 102 131 143
Handle Spring 60

Handle Base 60

Side Handle 074 015 072 048 124 137Side Handle
Side Handle Cam
Side Handle Base 60 Comp.


